®O9—9 BHEFTITI—VBAREERE (THLEE)

1 PR -Y—EX
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1 8 T — I (A 4405) 99, 437,540 99, 437, 540| K 100. 0%
Z Do FAHE 198,093 247,093| 80. 2%
AR R
127,712/ 127,720 1A 100. 0%
(FA Ly Rl $—t)
2 |FRI FIRI R 4,383 4,383| 100. 0%
3 |CEE E=ii=A 90,522 90, 552| M. 100. 0%
i« 24 75 2,339 2,339 A 100. 0%
7 7 A VIR 139,252 139, 252| A 100. 0%
F—7 ¥ 10,816 10, 844 | & 99. 7%
AL, 162,608 162,618 & 100. 0%
DY 5,669 5,669| 1# 100. 0%
E1E 1 4,989 4,989| & 100. 0%
ZDfth 8,725 8,735| M 99. 9%
4 | A G Bl 83 95| & 87. 4%
ks 211/ 2121 M 99. 6%
Z DAt 141 141 & 100. 0%
5 |1TEEMR PEZERR 2,765 2,767 & 99. 9%
6 (177 -ER | h—TFTr - W% 120 120 A 100. 0%
7 |[1EER T VEREH T8 9,718 9,718 M 100. 0%
8 | Z DOtk T— T — N 205 229 A 89. 5%
9 |O AR SRR 5 / 5| & 100. 0%
Z DA DR R 648 649| & 99. 8%
HEAAT 4T 17,533 17,533 # 100. 0%
B 49,779 49,811 & 99. 9%
=Py 15,363 15,371 f® 99. 9%
10 |FER S WEEE - L 98 101 & 97. 0%
11 PR A HOEIT IR 2R 4771 482 B 99. 0%
WE (4OMEE) 9,692 9,753 A 99. 4%
8282 N4 687 687| & 100. 0%
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13 |BEhHE — s EE 9 9| & 100. 0%
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(EEER B BB <) 2/ 2| A | 100.0%
E T C %) Hdl 28 0o 7 o fi
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15 |42 A M S ENH T S Iy | & 100. 0%
16 |3%1H PN k] AR A 19,917 kW
JEL 7 %6 R O NS T Nas AR of kw
17 & 2 2B OHEREAL AL B 6 / 37| & T 16. 2%
(Bhsy, HEARALPE &) 20.1 169. 0|kg/ A 11.9%
18 |1& %5 A, EREN 314 323 1 97. 2%
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FAEMBT 27 7 L MRS 97,687 97,687| t 100. 0%
TAZ 7 MEEW (U v 7 ZIRMT 27 7V MEA 18,670 18,670 nf 100. 0%
RE—=NEINT A7 7 v MES 3,926 3,926 nof 100. 0%
A A 86,872  87,124| t 99. 7%
IINBEAL AR et 5,599 5,599 ot 100. 0%
e R SN 25,893  26,237| t 98. 7%
At L 73\47-/~‘/;Jz))<:/v}\ ‘ _ 549 549 t 100. 0%
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AR AR 2/ 2l A 100. 0%
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K E B2 R 2/ 2l A 100. 0%
2530 R HAZ Vv b — MRy 7SR 2 / 2l & 100. 0%
R 18 18] & 100. 0%
NN 91 91| & 100. 0%
K=o ) Pek - B EAME AR ) e = 59,108 61,381 m 96. 3%
H kA T/ 7| T#E5|  100. 0%
SR A B BV B S K OVE DFLAIA B M 2 10 / 10| CF#| 100. 0%
P ITE 5 2/ 2| TF%| 100. 0%
AR e A o SR 3R A AR 4,266 4,266 & 100. 0%
HAk B 5 PR R R 4,008 ~ 4,008 & | 100.0%
RERR A (BRARA, B, BIES) F720%
A TR IE M LR TIES (BB 118 118 nof 100. 0%
Tk [iEmRE Tk i T5%)
AMF v 7 &TEH Ui A B R A TiESE (T 92.619 / 922,690| nt 99. 7%
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